

## DELHI DEVELOPMENT AUTHORITY SPORTS DIVISION-1 SIRIFORT SPORTS COMPLEX **NEW DELHI-110049**

No. F2(3)Sports Divn.-1/DDA/A/NSSC/2021-22/U&6

Date: 23/11/2021

To

M/s Reyansh Constructions J-2/8, Khirki Extn., Malviya Nagar, New Delhi-110017.

Name of Work

: Maintenance of various Sports Complexes / Golf Courses (A/R & M/O of works at Netaji Subhash

Sports Complex, Jasola for the year 2021-22).

: Providing and Fixing hard drawn steel wire fencing Sub- Head

around Football ground along with Jogging Track at

Netaji Subhash Sports Complex, Jasola.

:- Performance Guarantee in the form of FDR No: 930390 Ref

A/c No.-7105824985 dated 27.10.2021 for Rs.35,500/-

of Indian Bank, Anandlok Colony, New Delhi-110049.

D/Sir,

Your Percentage rate tender for the above mentioned work has been accepted on behalf of Delhi Development Authority at the rates, terms and conditions given below:-

1. Estimated Cost. :

Rs. 22,53,877/- (Rs. Twenty two lakh fifty three

thousand eight hundred seventy

seven only.)

2. Tendered Amount:

Rs. 11,72,241/- (Rs Eleven lakh seventy two

thousand two hundred forty

one only.)

3. Percentage the Estt. Cost. 47.99% Below

(Forty seven point nine

nine Percent Below)

You are requested to attend the office of the undersigned along with the non-Judicial stamp paper worth Rs.100/-(One hundred) only to sign the formal agreement within seven days from the date of issue of this letter failing which acceptance of tender is likely to be withdrawn and entire amount of earnest money shall be forfeited absolutely.

Please note that the date of start of the work shall be reckoned from the 10<sup>th</sup> days after issue of this letter.

(Cont.....P-2-...)

Namec

Time allowed for execution of the work shall be 60 Days.

You are requested to contact AE-III/Sports and start the work once.

GST, Cess & other statutory taxes shall be deducted as applicable from time to time.

> **Executive Engineer** Sports Division-1/DDA

## Copy to:-

- 1. Project Director (Sports)/DDA for information pl.
- 2. Secretary, NSSC/DDA.
- 3. All EEs/DDA.
- 4. EE/QAC-I
- 5. Sr. A.O/CAU(Sports)DDA.
- 6. Dy. Director(System)DDA, with the request to kindly E-Mail the same in the DDA website.
- 7. Sr. A.O.(Works)-I/DDA.
- 8. All AEs, AE(P) & AAO/Sports Division-1/DDA.
- 9. AE-III/Sports Division-1/DDA along with schedule of quantity of accepted rates.
- 10. Income Tax Officer, I.T.O Bldg. Room No.225, 2<sup>nd</sup> Floor, New Delhi.
- 11. Labour Commissioner, 15 Rajpura Road, New Delhi.
- 12. Asstt. Commissioner, Work Contract Cell, Room No.501, Bikrikar Bhawan, N.D.
- 13. Delhi Contractor Welfare Association, 306, Masjid Moth, NDSE, Part-
- 14. Head Clerk/Sports Division-1/DDA is requested to please issue one MAS register for the above said work/ agency.

- 15. Guard file.
- 16. Copy for Agreement.

**Executive Engineer** Sports Division-1/DDA

## SCHEDULE OF QUANTITY

Name of Work

Maintenance of various Sports Complexes / Golf Courses (A/R & M/O of works at Netaji Subhash Sports Complex, Jasola for the year 2021-22).

Sub Head

:- Providing and Fixing hard drawn steel wire fencing around Football ground along with Jogging Track at Netaji Subhash Sports Complex, Jasola.

SI.	Jasola.				
No	Description of Item	Qty	Unit	Rate	Amount
1	Earth work in excavation by mechanical means (Hydraulic excavator) / manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift upto 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.  a. All kinds of soil	. 60.75	Cum	252.30	15327.23
2	Excavating holes more than 0.10 cum & upto 0.5 cum including getting out the excavated soil, then returning the soil as required in layers not exceeding 20cm in depth, including consolidating each deposited layer by ramming, watering etc, disposing of surplus excavated soil, as directed within a lead of 50 m and lift upto 1.5 m.  a. All kinds of soil	108.00	each	79.30	8564.40
3	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level : a. 1:5:10 (1 cement : 5 coarse sand (zone-III): 10 graded stone aggregate 40 mm nominal size)	13.50	Cum	5520.30	74524.05
4	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundation and plinth in: a. Cement mortar 1:4 (1 cement : 4 coarse sand)	47.00	Cum	6376.25	299683.75
5	12 mm cement plaster: a. 1:4 (1 cement : 4 fine sand)	162.00	sqm	266.85	43229.70
6	15 mm cement plaster on the rough side of single or half brick wall of mix: a. 1:4 (1 cement: 4 fine sand)	162.00	sqm	307.90	49879.80
7	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50 m and lift upto 1.5 m.	19.30	Cum	219.65	4239.25
8	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:  a.) 1:2:4 (1 Cement: 2 coarse sand (zone-III): 4 graded stone aggregate 40 mm nominal size)	10.00	Cum	6680.20	66802.00
9	Providing and fixing hard drawn steel wire fabric of size 75 x25 mm mesh or other suitable size wire mesh to be fixed & firmly anchored to the concrete surface by means of "L" shaped mild steel shear key welded with existing reinforcement including the cost of materials, labour, tool & plants as approved by Engineer-in-charge.	810.00	sqm	801.70	649377.00
10	Steel work welded in built up sections/ framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required.  a. In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	7614.00	kg	131.00	997434.00
11	Taking out existing kerb stones of all types from footpath/central verge, including removal of mortar etc., disposal of unserviceable material to the dumping ground, for which payment shall be made separately and stacking of serviceable material within 50 metre lead as per direction of Engineer-in-Charge.	200.00	meter	28.05	5610.00

(Cont.....P-2-...)

17

12	Laying at or near ground level old kerb stones of all types in position to the required line, level and curvature, jointed with cement mortar 1:3 (1 cement: 3 coarse sand), including making joints with or without grooves (thickness of joints, except at sharp curve, shall not be more than 5 mm), including making drainage opening wherever required etc. complete as per direction of Engineer-in-charge. (Length of finished kerb edging shall be measured for payment): (Old kerb stones shall be supplied by the department free of cost)  Providing and laying at or near ground level factory made kerb stone of M-25 grade cement concrete in position to the required line, level and curvature, included with accounter the control of the stone of M-25 grade cement concrete in position to the required line, level and curvature, included with accounter the control of	200.00	meter	82.95	16590.00
13	jointed with cement mortar 1:3 (1 cement: 3 coarse sand), including making joints with or without grooves (thickness of joints except at shar p curve shall not to more than 5mm), including making drainage opening wherever required complete etc. as per direction of Engineer-in-charge (length of finished kerb edging shall be measured for payment). (Precast C.C. kerb stone shall be approved by Engineer-in-charge).	2.70	Cum	8376.15 rand TOTAL	22615.61
		22,53,877.00			
		10,81,635.57			
		11,72,241.43			
		11,72,241.00			

(Rs. Eleven lakh seventy two thousand two hundred forty one only).

Executive Engineer
Sports Division-1/DDA